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ggar-9dr /a fawg - arfore simar 2 (s7fch) 7UT- R0 da- ¢ a
e am: qET FHHI:
TeT 1 A) et THRARYA AT 9T e, (5)
1) el {TESTeT fohclt Feafag Iredra?
a) T b) &Y o) e d) 31
2) vt faieeet ety YoT ST Arehetrer?
a) T b) &¥eT c) et d) 39F
3) et o=t fige wamTarse avomr=a faelt {om 3rdara?
a) b) T ¢) Uk TFar et d) Ter
4) ST FHAT THAT TehT Sicahet Bael FHAT Sladhedl T dTo[edl Hidlaardr aiof fhal Jad?
a) 0° b) 180° c) 90° d) 360°

5) &Y+ {971 UarT Sfeahat et 3r8dT el &l daR gara?

a) 16 b) 8 c)4 d) 2

B) waa 3av T (5)
1) foig B 87 ¥@ AB =T AT fag 3Me. 3NTOT AB = 16 TBM = ?

L J

2)Sd(P,R) = 10,d(P,Q) = 3d(Q,R) = 7 TR ATcHel FHITAT foig e 2l g aw=are Je?
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3) HThcitet foRRoT BA T fargets FehgoT HiuTeT? A B c

4) arspEar At L || T m 3nforw x fr SR ag av La =?
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5) &Yt HHTR Y9TAT Ul Sfeehat Sl HAAT IR EIVT=AT USHT AT AT 750 3 ¥ qredr T9rd
FIaTd AT T 3o
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W Lx =7 ¢y =? (2)

x=
2) HEAT YaT A ToigET feRr 2 e, A A 8 Uaheh 3TeRTeR 3rFeled fige fovderes fore. (2)
e ()

3)FXA-B-CTd(AC) =16,d(B,C) =55 @ d(A,B)=? (3)

A-B-C

& d(A,€) = d(4,B) +d(B,C)

“(J=aaB+(_ )
«d@8)= (J- (]
. d(A,B) = D

a) ,i P\ gt @l |l wm aforwp || win
i \ 80° \ b T AT AT ATTaweT 24, 2b, £ A et (3)
+ \ b \ » m
ca=[C_ ) wm@wm
b+ 2a = 180° (X e 1)

w2 =(C_
cee=((_ )
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